wCIMBAL/ Spare parts catalog

Updated 3/11/2018

Coffee grinders

MD MAGNUM

INDEX

COACHWORK IMD MAGNUM ..ottt ettt ettt sttt ee e s 218548 £ e e 2t £t s et b et E e R e e Ea e £ e e AE e e A e o e e L b e £ EeE e b eE b e bt bR e E £ e bR bR s A e e e et b £ h e e b e b e b e e e eb e ee b e b e b bbb et s st et s e tas 2
COFFEE POWDER DOSER IMD IMAGNUM ..ottt ettt £a e 4 e 42 s e 128 e e £ e e e e e £ e b e £ e b ee e L e s e E e e b S Ee e s s £ s s A £ e e sE o E L b e e b e e e b e e e R e e e e e e s e e s e s s s ses e £ e e e et snsenactesaes 4
GRINDING SECTION IMD MAGNUM ..ottt £ s e s e e se s £ s e s e s R £ e e e e e s£ e o e h e e eE e aeeseeEacaesee 1L L oeteEeEeeasseesEasaseeseE L aeoeteEeEasasseeLacaeseesE s eeEeEeE e aeseeeEasaesessEeeaeeeseE e aseessE st ass et esse s eeteemacaseeeasasasseeses 7
ELECTRIC COMPONENTS IMD MAGINUM ..ottt ettt sa s e e s8££ 122 et 2 2o e e e e e £ e He e e 12 b e se e e e e e £ E e b e b £t b e b SR e R e e e e e e e ee b e e e et b e e ettt e e bbbt nnaes 9

MD MAGNUM = GENERIC TABLE ...ttt sttt 4 £t b2 £t b £ £t a4 £t b £ £ et E b e £t b s e e eE e b b e e A £t o b £ £t ae s b £t b e b e HE e e e b b e et e s e et et b b e e et b b e b e e s et e st es b bttt et tasaeaeene st 11



MOLINO DOSIFICADOR COFFEE GRINDER MACINADOSATORE
IMBAL/
MOINHO DOSEADOR KAFFEEDOSIERMUHLE MOULIN DOSEUR _ MACNUM «C

+ Particolare nuovo o modificato
Piéce nouvélle ou modifiée +965-361-000
New or modified part
Neues oder geanertes teil
Particular nuevo o modificado
Pecga nova ou modificada \ /
+465-062-000 \ \_///

—~——

990-710-000

465-818-000
+465-460-010

4831-134-786
4721-135-031

+965-471-000

- 4613-134-994 Silver
4617-134-994 Gold
- 4640-134-994 G4Metal

+465-425-010 \%
4001-135-037

4121-134-989

4831-134-996 S 4701-026-621
% /4529-1 34-991
1 @)
+537-041-810  Silver em o %

+4617-134-771—

+537-041-910 Gold §__— =
+537-041-710 GéMetal L +432-508-000 —

ED.

CARROCERIA COACHWORK CARROZZERIA
AUSGABE %12

‘ TAB. M12-1 ‘
ESTRUTURA KAROSSERIE CARROSSERIE




wwCIMBALI

Coffee grinders

MD MAGNUM

Pos

Part Number

Description

Validity Notes

4001135037
4121134989
432508000
4529134772
4529134991
4613134994
4617134771
4617134994
4625133551
4640134994
465062000
465425010
465460010
465818000
4701026621
4721135031
4831134786
965482000

= 4831134996

4991133570
537041710
537041810
537041910
965361000
965471000
990710000

SCREW M4X4
SCREW

HANDLE ADJUSTING GRINDER

COFFEE CONTAINER
HANDLE

COLLAR SILVER

NOT FURNISHABLE CODE
COLLAR GOLD

SEAT FOR THE FILTER HOLDER

COLLAR

"MAGNUM" NAME PLATE
“LA CIMBALI" PLATE
SHUTTER

HOPPER MA

GASKET

TAPE

GRADUATED RING
MAGNUM WINDOWS
MAGNUM GLASS

FOOT RUBBER

FORK G4MET. KIT

FORK SILVER KIT

FORK GOLD KIT

COVER BEAN CONTAINER
COGWEEL

COFFEE CONTAINER LEED

Page 3 of 14

COACHWORK MD MAGNUM

3/11/2018 ed. 0 tab. M12-1



MOLINO DOSIFICADOR
MOINHO DOSEADOR

COFFEE GRINDER
KAFFEEDOSIERMUHLE

MACINADOSATORE
MOULIN DOSEUR

+965-213-000 —_

N T
4529-133-521— m 4081-050-118 — =
i/ .
+965-366-000 ——
+965-365-000 --u\
4529-133-522 — %
\\

‘Q/

4731-119-891

+965-298-000

Monofase - Single phase
Monophasé - Einphasige
3342-133-738 Monofasico - Monofasico

Trifase - Three phase
Triphasé - Dreiphasig
3301-133-541 Trifasico - Trifasico

P 965-282-010
+965-017-010

4731-008-848

4529-133-526 4881-133-584

. _~4001-042-313
.

- { 133577 -

‘ | <4731 138577 *

_}J 4061-133-598
— h

DX 4251-133-589

SX 4251-133-590 -

4529-133-523
- +965-465-000

4991-133-596
4529-133-519

4911-133-595
4731-133-593—

B - ——4814-133-684
~ o 4731-133-577 \

- -4831-134-778

%f +4831-136-551

532-802-800

L
\
O 4171-133-230 %%
S T2

4034-052-285 —_

- 4061-133-599 — \

4991-133-594 ——

465-875-000 —_ 2811-136-5563 DX

DX 4731-133-581
2811-136-552 SX

SX 4731-133-582

4529-133-530

+ Particolare nuovo o modificato
Piéce nouvélle ou modifiée
New or modified part
Neues oder geanertes teil
Particular nuevo o madificado
Pecga nova ou modificada

DOSIFICADOR DE CAFE MOLIDO COFFEE POWDER DOSER DOSATORE MACINATO

DOSEADOR DE CAFE MOIDO KAFFEEPULVERDOSIERER DOSEUR CAFE MOULU

D.
AUSGABE 9312

‘ TAB. M12-2




wwCIMBALI

Coffee grinders

MD MAGNUM

Pos

Part Number

Description

Validity Notes

2811136552
2811136553
3301133541
3342133738
4001042313
4031050600
4034052285
4061133598
4061133599
4081050118
4171133230
531390800

= 4251133589

4251133590
4529133519
4529133521
4529133522
4529133523
4529133526
4529133530
465875000

4731008848
965452000

= 4731119891

4731133577
4731133581
4731133582
4731133593
4814133684
4831134778
465446010

= 4831136551

4881133584
4911133595
4991133594
4991133596
532802800
965017010
965213000
965282010
965283000
965298000
965365000
965366000
965450000

LEFT COMPLETE LEVER TN
RIGHT COMPLETE LEVER TN
MICRO SWITCH 230/400V
MICRO SWITCH

GRUB SCREW M5X8

NUT M10

NUT M6

PIN 4X16

PIN

BENZING-RING

WASHER

RH STROKE COUNTER
RIGHT BLOW COUNTER
LEFT BLOW COUNTER
TAMPER LEVER

COVER MICRO SWITCH

BOX MICRO SWITCH
COUNTER PROTECTION
HANDLE PROTECTION
BASE DOSER BLACK
COFFEE TAMPER

SPRING

DOSER SCRAPER

ROD

SPRING

SPRING

SPRING

SPRING TAMPER

SHAFT

GEAR

RUBBER INSERT FOR MD LEVER
LEVER MD

SPACER

DISK TAMPER

SHOCK ABSORBER

SHOCK ABSORBER

DOSER LEVER PROTECTION
LEVER MICRO SWITCH

RING NUT FOR MIXER LOCK
DOSING STAR

STAR

MIXER

MD3000 FRONT DOSER GASKET
MD3000 UPPER DOSER GASKET
DOSING SECTOR

Page 5 of 14

COFFEE PO\WWDER DOSER MD MAGNUM

3/11/2018 ed. 0 tab. M12-2



wwCIMBALI Coffee grinders MD MAGNUM

Pos Part Number Description Validity Notes

- 965465000 POWDER CONTAINER

Page 6 of 14 COFFEE PO\WWDER DOSER MD MAGNUM 3/11/2018 ed. O tab. M12-2



MOLINO DOSIFICADOR COFFEE GRINDER MACINADOSATORE
IMACNUM wwCIMBALI

MOINHO DOSEADOR KAFFEEDOSIERMUHLE MOULIN DOSEUR

* +965-815-000

+965-029-010 .
\ -

* .

+580-105-310 N

= ~_— 539-000-101 ™~
= % 2 )

AT

——4731-133-568 _——4141-112-218

+965-504-000
|

A

- 2445-133-575 200V /50-60Hz Monofase - Single phase

L _1213_ Monophasé - Einphasige
2441-133-575 230V 50Kz Monofasico - Monofasico

4944-133-580
4529-133-529

- +2432-133-575 220V /60Hz  9911-133-621

—530-208-600 230400V Triase Trves phace 4821-134-803

Triphasé - Dreiphasig
> ——530-298-610 230400V A  Trifasico - Trifasico

|
|
|
|
|
- +530-208-510 110V / 60Hz |
|
|
|
i +580-105-310

+ Particolare nuovo o modificato
Piéce nouvélle ou modifiée

e ~_ . New or modified part
/ mp M12-4 o | Neues oder geanertes teil

Particular nuevo o modificado

S ™~ Pega nova ou modificada
CAMARA DE MOLTURACION GRINDING SECTION CAMERA DI MACINAZIONE ED
AUSGABE 0312 TAB. M12-3
CAMARA DE MOAGEM MAHLSCHEIBENKAMMER SECTION DE MOUTURE




wwCIMBALI

Coffee grinders

MD MAGNUM

Pos

Part Number

Description

Validity Notes

2211133621
2432133575
2441133575
2445133575
4004041359
4081050298
503505100

= 4141112218

4529133529
4731133568
4821134803
4944133580
530298510
530298600
530298610
539000101
580105310
965029010
965221010
965504000
965815000
990709000

SUPPORT TURNING GRINDSTONE
MOTOR 220/60 MD 2000 UL
SINGLE-PHASE MOTOR 230V 50HZ
SINGLE PHASE MOTOR 200V/50-60HZ
SCREW M5X8

RING

S.S. TCTC 5X10 SCREW

SCREW

SUPPORT MOTOR BLACK

SPRING CONJUNCTION

FLANGE

MOTOR SUPPORT

MOTOR 110/60 UL

THREE-PHASE MOTOR 230/400V 50HZ
THREE-PHASE MOTOR 230/400V 50HZ
CLIPS M8

BEARING

CONVOYER

MOTOR GASKET MAGNUM ON D
PROTECTION COVER FOR STONES D 75
STONES CHAMBER

75 MM DIAMETER GRINDSTONES

Page 8 of 14

GRINDING SECTION MD MAGNUM

3/11/2018 ed. 0 tab. M12-3



LA-C[MBA L/ Coffee grinders MD MAGNUM

MOLINO DOSIFICADOR COFFEE GRINDER MACINADOSATORE
. IMBAL/I
MOINHO DOSEADOR KAFFEEDOSIERMUHLE MOULIN DOSEUR _ IMACNUM +C.

+535-560-008 -, +965-472-000 6,3pF
\

3442-133-670 230v +965-507-000 63pF

3445-136-676 200v +965-473-000  8uF +965-506-000  8yF

3311-134-658 35uF
3412-133-660 110V~

‘* 465-814-000 10pF
——3341-134-659 35pF

+465-822-008 230V

+465-823-008 110V

_—3445-134-119

532-729-700 ——
3301-134-672 230\/}// 31506400
3301-134-660 110v- o5 mtss @
532-150-000 — &

4702-133-576
+530-119-600 3x1,25(J)
+535-801-000 4x1.25(J ) - ,

3751-115-075 4x1 (| ; [ S .

530-114-600 3x1 ! +965-362-000

3302-133-736 (e) - (]
( J ) only for Japanese market > ) —
(®) Only for North America market -~ : ‘| 4 N
+ Particola ovo o modificat Monofase - Single phase 3412-133-634 110V /,r ‘I ‘.ﬁ‘
articolare nuovo o modificato Monophasé - Einphasige / - +532-021-608 T
Piéce nouvélle ou modifiée Monofasico - Monofasico  3402-133-614 %ggs / —— +965-340-000
New or modified part — r— i /
Neues oder geanertes teil Trifase - Three phase 230V
Particular nuevo o modificado iy +535-573-008

Triphasé - Dreiphasig 400V

Peca nova ou modificada Trifasico - Trifasico 3402-133-614 200v

ED.

AUSGABE 0312 H TAB. M12-4

COMPONENTES ELECTRICOS ELECTRIC COMPONENTS COMPONENTI ELETTRICI
COMPONENTES ELECTRICOS ELEKTRISCHE BESTANDTEILE COMPOSANTES ELECTRIQUES

Page 9 of 14 ELECTRIC COMPONENTS MD MAGNUM 3/11/2018 ed. 2 tab. M12-4



wwCIMBALI

Coffee grinders

MD MAGNUM

Pos

Part Number

Description

Validity Notes

3301134660
3301134672
3302133736
3305134188
3311134658
3341134659
3402133614
3412133634
3412133660
3442133670
3445134119
3445136676

535876000

= 3751115075

537052200
= 465814000
465822008
465823008
4702133576
535874000
= 530114600
531506400
532021608
532150000
532729700
535560008
535573008

530119600

535875000
= 535801000
965220000
965340000
965362000
965472000
531494500

= 965473000
537052100

= 965506000
537052000

= 965507000

FUSE 110V

FUSE 230V

FEED-IN CABLE 3POLE 110V UL
3 WAY CONNECTIONS (SCREW)
CONDENSER 35 MF
CAPACITOR 35MF

LIGHT UL GREEN

LAMP GREEN 110V

RELAY MD 2000 110/60
RELAY230V MD2000
SUPPRESSOR CAPACITOR
RELAY 200V 50/60HZ

HO7RN-F 4x1 POWER SUPPLY CABLE
(REPLACEM

WIRE FEEDING 3-PHASE
10MF CONDENSER WITH RESISTANCE
CAPACITOR 10MF
STARTING CARD 230V
STARTING CARD 110V
CABLE CLAMP

POWER SUPPLY CABLE
SUPPLY WIRE 3X1

RELAY 230V-50/60HZ
SWITCH 3 PHASE
TERMINAL BLOCK
BOARD SUPPORT
CONTACTOR 230/450V
WARNLIGHT 400V GREEN

SINGLE-PHASE POWER SUPPLY CABLE 3x1.25
L

POWER SUPPLY CABLE

MAIN CABLE 4X1,25 L2000

BASE GASKET MAGNUM ON D
LIGHT SWITCH

MD3000 SWITCH GASKET
CONDENSER 6,3 uF

CONDENSER 8 uF

CONDENSER 8 uF

8MF CONDENSER WITH RESISTANCE
CONDENSER 8 uF

6.3MF CONDENSER WITH RESISTANCE
CONDENSER 6,3 uF

Page 10 of 14

ELECTRIC COMPONENTS MD MAGNUM

3/11/2018 ed. 2 tab. M12-4



wwCIMBALI

Coffee grinders

MD MAGNUM

Pos

Part Number

Description

Validity Notes

965815000

= 2251135179
531494500

= 2341134750
965472000

= 2341136678
535560008

= 2492133739
3301136677
537052100

= 3341134535
537052000

= 3341136679
535573008

= 3591133546
3711022897
532021608
= 3761119957
4001041911
4001041923
4001041930
4001052298
4001052356
4004041772
4001041931
= 4004041931
4004043489
965465000

= 4504133562
965029010

= 4529133524
965361000

= 4529133528
537041810

= 4613134995
537041910

= 4617134995
4622134995
4640133549
537041710

= 4640134995
465425000
465446010
465460010

= 465460000

STONES CHAMBER

KIT FOR GROUND COFFEE REGULATION

CONDENSER 8 uF
CONDENSER 8 MF
CONDENSER 6,3 uF
CAPACITOR 6,3 MF
CONTACTOR 230/450V
CONTACTOR 230/400V
FUSE 200V

8MF CONDENSER WITH RESISTANCE
CONDENSER 8 MF

6.3MF CONDENSER WITH RESISTANCE
CAPACITOR 6,3 MF
WARNLIGHT 400V GREEN
WARNLIGHT 400V GREEN
BEARING

SWITCH 3 PHASE

SWITCH 3 PHASE

SCREW M4X10

SCREW

SCREW M5X8

SCREW M4X12

SCREW M6X16

SCREW 3,5X9,5

SCREW M5X10

REPLACED BY 4001041931
SCREW 3X12

POWDER CONTAINER
COFFEE POWDER CONTAINER
CONVOYER

COFFEE POWDER SHOOT
COVER BEAN CONTAINER
HOPPER LID

FORK SILVER KIT

FORK SILVER

FORK GOLD KIT

FORK GOLD

FORK

NOT FURNISHABLE CODE
FORK G4MET. KIT

FORK G4MET.

"LA CIMBALI" LABEL
RUBBER INSERT FOR MD LEVER
SHUTTER

SHUTTER

Page 11 of 14

MD MAGNUM - GENERIC TABLE

3/11/2018 ed. 0 tab. MAGNUM



wwCIMBALI

Coffee grinders

MD MAGNUM

Pos

Part Number

Description

Validity Notes

965017010
= 465463000
465623000
465625000
465062000

= 4726135032
4812134990
965283000

= 4831119874
965282010

= 4831119875
965298000

= 4831119876
4831119890
4831133989
965471000

= 4831134784
4831134987
965450000

= 4941026287
503505100
521042950
530298510

= 530298500
532020400
535874000
535875000

535876000

537041710

= 537041700
537041810

= 537041800
537041910

= 537041900
537049300
537052000
537052100
537052200
537052400
965017010

= 965017000
537049300

= 965018000
965018010

LEVER MICRO SWITCH
LEVER MICRO SWITCH
SINGLE-PHASE WIRING
THREE-PHASE WIRING
"MAGNUM" NAME PLATE
"MAGNUM" NAME PLATE
GRINDING ADJUSTMENT SCREW SHAFT
STAR

COFFEE DOSE PUSHING STAR
DOSING STAR

DOSING STAR

MIXER

MIXER

KNOB

GRINDSTON PROTECTION
COGWEEL

TOOTHED WHEEL

LOCK GATE

DOSING SECTOR

DOSING DEVICE

S.S. TCTC 5X10 SCREW
SCREW

MOTOR 110/60 UL
MOTOR 110/60 UL
SWITCH

POWER SUPPLY CABLE
POWER SUPPLY CABLE

HO7RN-F 4x1 POWER SUPPLY CABLE
(REPLACEM

FORK G4MET. KIT

FORK G4MET. KIT

FORK SILVER KIT

FORK SILVER KIT

FORK GOLD KIT

FORK GOLD KIT

SHAFT

6.3MF CONDENSER WITH RESISTANCE
8MF CONDENSER WITH RESISTANCE
10MF CONDENSER WITH RESISTANCE
35MF CONDENSER WITH RESISTANCE
LEVER MICRO SWITCH

LEVER MICRO SWITCH

SHAFT

GRINDING ADJUSTMENT SCREW SHAFT
GRINDING ADJUSTMENT SCREW SHAFT

Page 12 of 14

MD MAGNUM - GENERIC TABLE

3/11/2018 ed. 0 tab. MAGNUM



wwCIMBALI

Coffee grinders

MD MAGNUM

Pos

Part Number

Description

Validity Notes

965029010

= 965029000

965452000
965466000
965482000
965483000
965487000
975007000
533902400

990993000

531494500
531390900
531390800
533904800F

CONVOYER

COFFEE POWDER SHOOT

DOSER SCRAPER

BEARING FLANGE

MAGNUM WINDOWS

MOTOR SUPORT

SCALDE GEAR

RESISTANCE 180KOhm 1W

SOL.VALV. 3-2 NC VITON PARKER 1/4" G UL

SHUTTER W/CONSTRICTION AND RUVECO
FILTER

CONDENSER 8 uF

LH STROKE COUNTER

RH STROKE COUNTER

EV 2 VIENC 220/240V 50/60Hz VITON 1/8"

Page 13 of 14

MD MAGNUM - GENERIC TABLE

3/11/2018 ed. 0 tab. MAGNUM



O IMBAL/

Copyright © 2014 Gruppo Cimbali S.p.A.



	INDEX
	COACHWORK MD MAGNUM
	COFFEE POWDER DOSER MD MAGNUM
	GRINDING SECTION MD MAGNUM
	ELECTRIC COMPONENTS MD MAGNUM
	MD MAGNUM - GENERIC TABLE

